Quiz 1

August 31, 2016

Show all work and circle your final answer.
1. Given the 1-to-1 function f(z) = -7 + 3z° + tan %%, |z| < 1,
find the value of f(f~!(2x)).
Recall:  F(£'(x) = x

So.  P(82m)) = [2n]
2. The position of a particle at time ¢ is given by t2 — 2t + 7. Write
(but do not evaluate) an expression to find the average velocity

between time ¢t = 1 and ¢ = 1.01.
total distance E-Oﬂz- 200047 - [lz—2+71\
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3. Given the function
fla) =222
-~ 10—2z’
find:
(a) The inverse function, f~!(z)
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(b) The domain of f(z) and f~'(z).
dovain of  f):  [x251
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